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i2 Attempt any SEN parts: ‘-‘{-:J I?ULJI
[xpress decimal as percentage: 022 0.22 ax—f'%--"' “':‘-":“"’# """wl ()
Deline direct proportion, —.{—E/J‘J':"""‘f"t: (1)
Iaprress ratio dn its simplest torm: f:}-;lu ‘Ej 20 fél.):tﬁtf”"’ff;’f; (i)
Define Zekat. Write its rate. (1#1) (1+1) i‘c_'-Lf&fJu'i -ég-é*/;"d’ 35 (i)
Caloulate Zakat on silver mmounting to Rs. 300000, -g,-E'r,J-*'? ;’3,.;{_; i?ﬁi.?.,u 300000 :w.jl-Jﬂ.fﬁ 'grﬁ (v)
Detine profit. Write profit percent formula. (1+1) (I+1) _E’;-r_lfiliﬁ.jf('jj --:-,"‘:'s--&‘/‘.;\;g (vi)
Find CP when 8P = Rs. 672 and profit = 5% 5% = 81:’ sl & 3672 - #J,*’-:-E—ﬁ'é‘:;"-‘h'*kféé (vil)
Define marked price. How it is denoted? (141} (1+1) ' rw}ﬁﬁéfw -ég*-%’/;d‘é'-"é-";@ﬂ (viii)
Write the names of two major accounts. (1+1) (1+1) -.-é,{;ﬁ‘f-f:dkjﬂ‘-?” (ix)
2 Attempt any SIX parts: e‘.{uﬂ'?*ﬂf—-d!
&1 1124088 = 2osb s L2 LU LU 25 J21s 500000 e )
Convert PK Rupees 500000 to Euro. Rate of Euro = Rs. 112.4088
¢ Sus S L'Jd-#fd{:[k?ﬁd—ﬂlﬁﬂﬂﬂ cAtngipd ) e rbLﬁdﬁf' 16% 4ux:u. (i)
A sales tax of 16% is imposed on television. 1fthe marked price of television is Ks. 1 E{IU{) calculate the total
amount one has 1o pﬂ}' if he purchases it.
| | | _Q{fﬂf’ﬁé{f{lﬁgkﬁ::.b;&ﬂklﬁ% ~&w&—1,1400000 QEJIJL-JJ-_};-.{? (ii1)
The annual value of a lat is Rs. 1400000. Find the tax payable at arate-of 16%.
Simplify:  M118+42 o W8 +¥T EA (iv)
Sul_vc: (ajz'hi_'g*}ﬁ | [a ) b'!q‘ﬂ4 }ﬁ :gg J’ {v)
Solve: iﬂ'z {i%!j %.2 f_lug {x +D=2 g (i)
Write the fi rstxhree ien:lis if “ﬂ o ;n | “n -"- f ér ,!,,J:Ll:’ (vii)
| Fmd A M hetwaen "‘ l J"“‘? - .ép‘"ﬁfuyﬂ.& Xx—1 ¢ x+7 (vii))
Find GM. btl:ween ~2 and -8 E il foenl 8 o 2 (o)
2 .._Attempt any SIX parls,, | | édﬁf?i,;;_'jf
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Deﬁngcﬁmnlinn, a{....ﬂ/‘UutG @iy

6l ;,,.uw-en 2 3,4 5 6 7 8, 9})' (iii)
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2 BXA 7 B={1,3) 4l A= 2,3, 4})’:_- )

......

U= {1,2,3,4,5,6,7, 8, 9} and A'$12,3, 6,9 thei S :
Represent the point F(=3,.7) or graph, — ,ﬁfﬁjc..ilff E{--‘.! ?} .@
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